UGC NET 2021 Manipuri
Topic:- 35Manipuri_A
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[Question ID = 407][Question Description = Q01_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1625]
2. 2 [Option ID = 1626]

3. 3 [Option ID = 1627]
4. 4 [Option ID = 1628]
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[Question ID = 408][Question Description = Q02_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1629]
2. 2 [Option ID = 1630]
3. 3 [Option ID = 1631]
4. 4 [Option ID = 1632]
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[Question ID = 409][Question Description = Q03_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1633]
2. 2 [Option ID = 1634]

3. 3 [Option ID = 1635]
4. 4 [Option ID = 1636]
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[Question ID = 410][Question Description = Q04_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1637]
2. 2 [Option ID = 1638]
3. 3 [Option ID = 1639]
4. 4 [Option ID = 1640]
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[Question ID = 411][Question Description = Q05_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1641]

2. 2 [Option ID = 1642]

3. 3 [Option ID = 1643]

4. 4 [Option ID = 1644]
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[Question ID = 412][Question Description = Q06_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1645]
2. 2 [Option ID = 1646]

3. 3 [Option ID = 1647]
4. 4 [Option ID = 1648]
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[Question ID = 413][Question Description = Q07_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1649]
2. 2 [Option ID = 1650]
3. 3 [Option ID = 1651]
4. 4 [Option ID = 1652]
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[Question ID = 414][Question Description = Q08_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1653]
2. 2 [Option ID = 1654]
3. 3 [Option ID = 1655]
4. 4 [Option ID = 1656]
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[Question ID = 415][Question Description = Q09_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1657]
2. 2 [Option ID = 1658]
3. 3 [Option ID = 1659]
4. 4 [Option ID = 1660]
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[Question ID = 416][Question Description = Q10_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1661]
2. 2 [Option ID = 1662]

3. 3 [Option ID = 1663]
4. 4 [Option ID = 1664]
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[Question ID = 417][Question Description = Q11_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1665]
2. 2 [Option ID = 1666]
3. 3 [Option ID = 1667]
4. 4 [Option ID = 1668]
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[Question ID = 418][Question Description = Q12_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1669]
2. 2 [Option ID = 1670]
3. 3 [Option ID = 1671]
4. 4 [Option ID = 1672]
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[Question ID = 419][Question Description = Q13_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1673]
2. 2 [Option ID = 1674]
3. 3 [Option ID = 1675]
4. 4 [Option ID = 1676]
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[Question ID = 420][Question Description = Q14_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1677]
2. 2 [Option ID = 1678]

3. 3 [Option ID = 1679]
4. 4 [Option ID = 1680]
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[Question ID = 421][Question Description = Q15_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1681]
2. 2 [Option ID = 1682]
3. 3 [Option ID = 1683]
4. 4 [Option ID = 1684]
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[Question ID = 422][Question Description = Q16_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1685]
2. 2 [Option ID = 1686]
3. 3 [Option ID = 1687]
4. 4 [Option ID = 1688]
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[Question ID = 423][Question Description = Q17_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1689]
2. 2 [Option ID = 1690]
3. 3 [Option ID = 1691]
4. 4 [Option ID = 1692]
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[Question ID = 424][Question Description = Q18_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1693]
2. 2 [Option ID = 1694]
3. 3 [Option ID = 1695]
4. 4 [Option ID = 1696]
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[Question ID = 425][Question Description = Q19_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1697]
2. 2 [Option ID = 1698]
3. 3 [Option ID = 1699]
4. 4 [Option ID = 1700]
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[Question ID = 426][Question Description = Q20_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1701]
2. 2 [Option ID = 1702]
3. 3 [Option ID = 1703]
4. 4 [Option ID = 1704]
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[Question ID = 427][Question Description = Q21_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1705]



2. 2 [Option ID = 1706]
3. 3 [Option ID = 1707]
4. 4 [Option ID = 1708]
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[Question ID = 428][Question Description = Q22_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1709]
2. 2 [Option ID = 1710]
3. 3 [Option ID = 1711]
4. 4 [Option ID = 1712]
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[Question ID = 429][Question Description = Q23_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1713]
2. 2 [Option ID = 1714]
3. 3 [Option ID = 1715]
4. 4 [Option ID = 1716]
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[Question ID = 430][Question Description = Q24_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1717]
2. 2 [Option ID = 1718]
3. 3 [Option ID = 1719]
4. 4 [Option ID = 1720]
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[Question ID = 431][Question Description = Q25_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1721]
2. 2 [Option ID = 1722]
3. 3 [Option ID = 1723]
4. 4 [Option ID = 1724]
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[Question ID = 432][Question Description = Q26_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1725]
2. 2 [Option ID = 1726]
3. 3 [Option ID = 1727]
4. 4 [Option ID = 1728]

27)  sitvwe R 39t

(1) o
(2) OIS

(3)  onpoeRal
4  amEer 5

[Question ID = 433][Question Description = Q27_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1729]
2. 2 [Option ID = 1730]
3. 3 [Option ID = 1731]
4. 4 [Option ID = 1732]
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[Question ID = 434][Question Description = Q28_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1733]
2. 2 [Option ID = 1734]
3. 3 [Option ID = 1735]
4. 4 [Option ID = 1736]
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[Question ID = 435][Question Description = Q29_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1737]
2. 2 [Option ID = 1738]
3. 3 [Option ID = 1739]
4. 4 [Option ID = 1740]
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[Question ID = 436][Question Description = Q30_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1741]
2. 2 [Option ID = 1742]
3. 3 [Option ID = 1743]
4. 4 [Option ID = 1744]
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[Question ID = 437][Question Description = Q31_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1745]
2. 2 [Option ID = 1746]
3. 3 [Option ID = 1747]
4. 4 [Option ID = 1748]
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[Question ID = 438][Question Description = Q32_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1749]
2. 2 [Option ID = 1750]
3. 3 [Option ID = 1751]
4. 4 [Option ID = 1752]
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[Question ID = 439][Question Description = Q33_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1753]
2. 2 [Option ID = 1754]
3. 3 [Option ID = 1755]
4. 4 [Option ID = 1756]
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[Question ID = 440][Question Description = Q34_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1757]
2. 2 [Option ID = 1758]
3. 3 [Option ID = 1759]
4. 4 [Option ID = 1760]
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[Question ID = 441][Question Description = Q35_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1761]
2. 2 [Option ID = 1762]
3. 3 [Option ID = 1763]
4. 4 [Option ID = 1764]
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[Question ID = 442][Question Description = Q36_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1765]
2. 2 [Option ID = 1766]
3. 3 [Option ID = 1767]
4. 4 [Option ID = 1768]
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[Question ID = 443][Question Description = Q37_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1769]
2. 2 [Option ID = 1770]
3. 3 [Option ID = 1771]
4. 4 [Option ID = 1772]
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[Question ID = 444][Question Description = Q38_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1773]
2. 2 [Option ID = 1774]
3. 3 [Option ID = 1775]
4. 4 [Option ID = 1776]
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[Question ID = 445][Question Description = Q39_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1777]
2. 2 [Option ID = 1778]
3. 3 [Option ID = 1779]
4. 4 [Option ID = 1780]
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[Question ID = 446][Question Description = Q40_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1781]
2. 2 [Option ID = 1782]
3. 3 [Option ID = 1783]
4. 4 [Option ID = 1784]
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[Question ID = 447][Question Description = Q41_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1785]
2. 2 [Option ID = 1786]
3. 3 [Option ID = 1787]
4. 4 [Option ID = 1788]
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[Question ID = 448][Question Description = Q42_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1789]
2. 2 [Option ID = 1790]
3. 3 [Option ID = 1791]
4. 4 [Option ID = 1792]
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[Question ID = 449][Question Description = Q43_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1793]
2. 2 [Option ID = 1794]
3. 3 [Option ID = 1795]
4. 4 [Option ID = 1796]
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[Question ID = 450][Question Description = Q44_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1797]
2. 2 [Option ID = 1798]
3. 3 [Option ID = 1799]
4. 4 [Option ID = 1800]
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[Question ID = 451][Question Description = Q45_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1801]
2. 2 [Option ID = 1802]
3. 3 [Option ID = 1803]
4. 4 [Option ID = 1804]
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[Question ID = 452][Question Description = Q46_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1805]
2. 2 [Option ID = 1806]
3. 3 [Option ID = 1807]
4. 4 [Option ID = 1808]
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[Question ID = 453][Question Description = Q47_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1809]
2. 2 [Option ID = 1810]
3. 3 [Option ID = 1811]
4. 4 [Option ID = 1812]
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[Question ID = 454][Question Description = Q48_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1813]
2. 2 [Option ID = 1814]
3. 3 [Option ID = 1815]
4. 4 [Option ID = 1816]
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[Question ID = 455][Question Description = Q49_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1817]

2. 2 [Option ID = 1818]
3. 3 [Option ID = 1819]
4. 4 [Option ID = 1820]
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[Question ID = 456][Question Description = Q50_Manipuri_SHAAN_NOV20_shift1]
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1 [Option ID = 1821]
2 [Option ID = 1822]
3 [Option ID = 1823]
4 [Option ID = 1824]
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[Question ID = 457][Question Description = Q51_Manipuri_SHAAN_NOV20_shift1]
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1 [Option ID = 1825]
2 [Option ID = 1826]
3 [Option ID = 1827]
4 [Option ID = 1828]
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[Question ID = 458][Question Description = Q52_Manipuri_SHAAN_NOV20_shift1]
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[Question ID = 459][Question Description = Q53_Manipuri_SHAAN_NOV20_shift1]
1 [Option ID = 1833]
2 [Option ID = 1834]
3 [Option ID = 1835]
4 [Option ID = 1836]
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[Question ID = 460][Question Description = Q54_Manipuri_SHAAN_NOV20_shift1]
1 [Option ID = 1837]
2 [Option ID = 1838]
3 [Option ID = 1839]
4 [Option ID = 1840]
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[Question ID = 461][Question Description = Q55_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1841]
2. 2 [Option ID = 1842]
3. 3 [Option ID = 1843]
4. 4 [Option ID = 1844]
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[Question ID = 462][Question Description = Q56_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1845]
2. 2 [Option ID = 1846]
3. 3 [Option ID = 1847]
4. 4 [Option ID = 1848]
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[Question ID = 463][Question Description = Q57_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1849]
2. 2 [Option ID = 1850]
3. 3 [Option ID = 1851]
4. 4 [Option ID = 1852]
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[Question ID = 464][Question Description = Q58_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1853]
2. 2 [Option ID = 1854]
3. 3 [Option ID = 1855]
4. 4 [Option ID = 1856]
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[Question ID = 465][Question Description = Q59_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1857]
2. 2 [Option ID = 1858]
3. 3 [Option ID = 1859]



4. 4 [Option ID = 1860]
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[Question ID = 466][Question Description = Q60_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1861]
2. 2 [Option ID = 1862]
3. 3 [Option ID = 1863]
4. 4 [Option ID = 1864]
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[Question ID = 467][Question Description = Q61_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1865]
2. 2 [Option ID = 1866]
3. 3 [Option ID = 1867]
4. 4 [Option ID = 1868]
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[Question ID = 468][Question Description = Q62_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1869]
2. 2 [Option ID = 1870]
3. 3 [Option ID = 1871]
4. 4 [Option ID = 1872]
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[Question ID = 469][Question Description = Q63_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1873]
2. 2 [Option ID = 1874]
3. 3 [Option ID = 1875]
4. 4 [Option ID = 1876]
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[Question ID = 470][Question Description = Q64_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1877]
2. 2 [Option ID = 1878]
3. 3 [Option ID = 1879]
4. 4 [Option ID = 1880]
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[Question ID = 471][Question Description = Q65_Manipuri_SHAAN_NOV20_shift1]

1 [Option ID = 1881]
2 [Option ID = 1882]
3 [Option ID = 1883]
4 [Option ID = 1884]
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(D) = IR (IV) ===t ==
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[Question ID = 472][Question Description = Q66_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1885]
2. 2 [Option ID = 1886]
3. 3 [Option ID = 1887]
4. 4 [Option ID = 1888]
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[Question ID = 473][Question Description = Q67_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1889]
2. 2 [Option ID = 1890]
3. 3 [Option ID = 1891]
4. 4 [Option ID = 1892]
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(1) (A)- L (B)- IL (C)- IIL. (D)- IV
(2) (A)- IL. (B)- 1. (C)- IV, (D)- 111
(3) (A)- IIL. (B)- IV, (C)- 1. (D)- II
(4) (A)- IV, (B)- 1L, (C)- I1I. (D)- 1
[Question ID = 474][Question Description = Q68_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1893]
2. 2 [Option ID = 1894]

3. 3 [Option ID = 1895]
4. 4 [Option ID = 1896]
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List I (=&t afie) List II (sf=1stwat i)
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[Question ID = 475][Question Description = Q69_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1897]
2. 2 [Option ID = 1898]

3. 3 [Option ID = 1899]
4. 4 [Option ID = 1900]

70)  qapndft v TomEp frs I A R s

List I ( cFrapcetias ) List II (=)
(A)  TEER O Ferermfess
(B) tmtT B In frfm
(C) f&, cotrst (1) Toets
(D) teThe TS IV) SheiRst
TR St 4mgs

(1) (A)- I (B)- ITT, (C)- IV, (I)- 1T
(2) (A)- II1, (B)- IV, (C)- IL, (D)- I
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(4) (A)- ITL. (B)- IV, (C)- 1. (I)- IT
[Question ID = 476][Question Description = Q70_Manipuri_SHAAN_NOV20_shift1]

1. 1 [Option ID = 1901]
2. 2 [Option ID = 1902]



3. 3 [Option ID = 1903]
4. 4 [Option ID = 1904]

™ s 1o e 1 & st Ay
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(1) (A)- IV, (B)- 11, (C)- TI1, (D)- 1T
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(4) (A)- I, (B)- IIT, (C)- IV, (D)- 11
[Question ID = 477][Question Description = Q71_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1905]
2. 2 [Option ID = 1906]

3. 3 [Option ID = 1907]
4. 4 [Option ID = 1908]
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(B) wora () =T
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[Question ID = 478][Question Description = Q72_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1909]
2. 2 [Option ID = 1910]

3. 3 [Option ID = 1911]
4. 4 [Option ID = 1912]
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(1)  (A)-L (B)-IIL (C)- II, (D)- IV
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[Question ID = 479][Question Description = Q73_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1913]
2. 2 [Option ID = 1914]
3. 3 [Option ID = 1915]
4. 4 [Option ID = 1916]
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List I (29341) List IT (@fStast)
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[Question ID = 480][Question Description = Q74_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1917]
2. 2 [Option ID = 1918]

3. 3 [Option ID = 1919]
4. 4 [Option ID = 1920]
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List I (SCwIRCoT) List II (=13f®)
(A)  EITIET FHEEA O ==
(B) % 9% FITm (II) =@ ST on® ot e
(C) TMEE (ZASTAesH (III) 7oy aat guEcEy
(D) et corEt AV) TR AETNS =t T8

Tt g e

(1) (A)- L (B)- II1, (C)- II. (D)- IV



(Z)  (&)- 1L (B)- 1, (L)- 1V, ()- 111
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[Question ID = 481][Question Description = Q75_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1921]
2. 2 [Option ID = 1922]
3. 3 [Option ID = 1923]
4. 4 [Option ID = 1924]
76)  wyrdft faerdifre oSy st wrs ot
(A) Tufng Fheys
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() D-C-A-B (2) B-AD-C
(3 A-CD-B (4 B-D-C-A

[Question ID = 482][Question Description = Q76_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1925]
2. 2 [Option ID = 1926]
3. 3 [Option ID = 1927]
4. 4 [Option ID = 1928]
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[Question ID = 483][Question Description = Q77_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1929]
2. 2 [Option ID = 1930]
3. 3 [Option ID = 1931]
4. 4 [Option ID = 1932]
78)  rEfwhe Wit crieRESt waw s
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[Question ID = 484][Question Description = Q78_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1933]



2. 2 [Option ID = 1934]
3. 3 [Option ID = 1935]
4. 4 [Option ID = 1936]
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[Question ID = 485][Question Description = Q79_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1937]
2. 2 [Option ID = 1938]
3. 3 [Option ID = 1939]
4. 4 [Option ID = 1940]
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[Question ID = 486][Question Description = Q80_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1941]
2. 2 [Option ID = 1942]
3. 3 [Option ID = 1943]
4. 4 [Option ID = 1944]
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[Question ID = 487][Question Description = Q81_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1945]
2. 2 [Option ID = 1946]
3. 3 [Option ID = 1947]
4. 4 [Option ID = 1948]
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(C) = & coteat
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[Question ID = 488][Question Description = Q82_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1949]
2. 2 [Option ID = 1950]
3. 3 [Option ID = 1951]
4. 4 [Option ID = 1952]
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[Question ID = 489][Question Description = Q83_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1953]
2. 2 [Option ID = 1954]
3. 3 [Option ID = 1955]
4. 4 [Option ID = 1956]
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[Question ID = 490][Question Description = Q84_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1957]
2. 2 [Option ID = 1958]
3. 3 [Option ID = 1959]
4. 4 [Option ID = 1960]
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[Question ID = 491][Question Description = Q85_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1961]
2. 2 [Option ID = 1962]
3. 3 [Option ID = 1963]
4. 4 [Option ID = 1964]
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[Question ID = 492][Question Description = Q86_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1965]
2. 2 [Option ID = 1966]
3. 3 [Option ID = 1967]
4. 4 [Option ID = 1968]
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[Question ID = 493][Question Description = Q87_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1969]
2. 2 [Option ID = 1970]
3. 3 [Option ID = 1971]
4. 4 [Option ID = 1972]
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[Question ID = 494][Question Description = Q88_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1973]
2. 2 [Option ID = 1974]
3. 3 [Option ID = 1975]
4. 4 [Option ID = 1976]
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[Question ID = 495][Question Description = Q89_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1977]
2. 2 [Option ID = 1978]
3. 3 [Option ID = 1979]
4. 4 [Option ID = 1980]
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[Question ID = 496][Question Description = Q90_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1981]
2. 2 [Option ID = 1982]
3. 3 [Option ID = 1983]
4. 4 [Option ID = 1984]
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[Question ID = 497][Question Description = Q91_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1985]
2. 2 [Option ID = 1986]
3. 3 [Option ID = 1987]
4. 4 [Option ID = 1988]
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[Question ID = 498][Question Description = Q92_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1989]
2. 2 [Option ID = 1990]
3. 3 [Option ID = 1991]
4. 4 [Option ID = 1992]
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[Question ID = 499][Question Description = Q93_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1993]
2. 2 [Option ID = 1994]
3. 3 [Option ID = 1995]
4. 4 [Option ID = 1996]
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[Question ID = 500][Question Description = Q94_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 1997]
2. 2 [Option ID = 1998]
3. 3 [Option ID = 1999]
4. 4 [Option ID = 2000]
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[Question ID = 501][Question Description = Q95_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2001]
2. 2 [Option ID = 2002]
3. 3 [Option ID = 2003]
4. 4 [Option ID = 2004]

Topic:- 35Manipuri_C

1)

T crere Wit e A streym Ags

Tore WP ERE-TATESA TR (SR Tounl (TS (ANt A% A1y | {(=rafs- sculpture ) =57
TATT WO LET SRS (e TR WP YT (ISAt B | Fepy gERet Ayt YAt
G e ERe-TARS TN TR Cone | wRwih SRt taat M o AT txwaft AE-, oI
=13, =t 223t SifbEfs ‘rnl’ woepe ‘oA S Cevedt MR | (Siwweq oNg AT tagt Wit
o113 TRYg ST AR AAERt Tes (UPEAT B TR WAL SRSt @t tgedt AT |
bRt margt fifmfiat aorear man w3nat wereipy ey (RIS wE ot woeat Te gt
relief work TGSt (SigAt 7] AT | A=At nts terwt oy AR AT =y et |
g AT O YGI AR EReemA oy A bRl = ot cyEwy mih WA wiftd
S37at ©ff | GrAEN o T ACeST FGN T LeTnEey AN ey
ey Tt w971 AT FEA-wEEsts omepe - e neent ifeeey wmast st
o3 ST wefer | eTERre =ity At fermar ey | IRt @A NS oty i ezt ATt
s et St wefemts | Ot oo creommt wEfe Wit Tt eat-wteat st RO
TR mET wheE- At FEt gt wreatteat et Sar-wey A won st
wifEEReaT oSt mogm =gt wy] St 722 | Sra=@Ht =g Sigs =W high relief work
F T YT oW | W AT Pt GFA ey I wheT | Jrarrht g tipw wlmet
AP TR YA ST ST | Wi Tust S ggat M 4w ol T veselE - W
&5 aratnd nivmfiem aefeaat Rog gféfe =i fefiefeg | oot cifgear =t g 9f€ =g
T T et RE T S wY | Aifse smant el w39 wRE | T s
7t TR IR 4Rt & i SoEE | g cofefie o @Y Sig 3T SRR 1te WA
ATt Yrter w&At Mfian Sowaw | o] WUET @ T YgRe] dcdw o
CRieT TEheYeenion | A &% ATAte TYe TR TR St ISE Sgat T o 8% MR Teh
wiem wEg veamat ofEERt awdt mm dwwe SeRteReet | v oy gt ol - T
wrfi SRIEAT A S3AT THR ot ArdtEAT ARt Ererefite wmt AERetet folk art #
Y ST AT | Tew SRt wer- My st (e e wnftER oy FefteReat my )
RSy At ATST @It TSRt AT I 3ot S@ett 3wy 83T At ent wifhE
Ut A Rt Teodt ArmHe R R |

o CETaTeETs

(&)
(B)
(€

(D)

F1E, AN wIEE Ayt feEe
=113 =it qmat cdedTat vondifa |
oTE AT Wt Wiy Ay SEe |

T R pEt UEs

(1)

(2)

A= D

A e C



(3)

4

B =P D

C = B

[Question ID = 502][Question Description = Q96_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2005]
2. 2 [Option ID = 2006]
3. 3 [Option ID = 2007]
4. 4 [Option ID = 2008]
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[Question ID = 503][Question Description = Q97_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2009]
2. 2 [Option ID = 2010]
3. 3 [Option ID = 2011]
4. 4 [Option ID = 2012]
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[Question ID = 504][Question Description = Q98_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2013]
2. 2 [Option ID = 2014]
3. 3 [Option ID = 2015]
4. 4 [Option ID = 2016]
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[Question ID = 505][Question Description = Q99_Manipuri_SHAAN_NOV20_shift1]

1.1
2.2
3.3
4. 4
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[Option ID = 2018]
[Option ID = 2019]
[Option ID = 2020]
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[Question ID = 506][Question Description = Q100_Manipuri_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2021]
2. 2 [Option ID = 2022]
3. 3 [Option ID = 2023]
4. 4 [Option ID = 2024]

Topi

1)

c:- General Paper_Set1_A

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given

vear. Total workforce in all the sectors put together 1z 80 lakhs. Bazed on the data contained



In the taple, answer the question .

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution (M: F)
Service (SE) 15% )
Sales (SA) 12% Sl
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% B
Others (OT) 6% 2:h

ffafed oifes = faam fifse 5o o 57 5o ad 4 toFm = fafim aaf © e % s =1 afaem
(%) Taemor G geu-ufeen e SEE SUE T 2| '@l &6 % Fel wEwe i ged 80 @
FifeAat § U U aTis] F oUW W UvE % 39 alran)

UHA o FEE F1 SaGT

e (%) faer | geg-afzen sgoa (g:9 )
a1 (TH 3) 15% g
Heq (T U) 12% 5:3
oo ot e (< ) 9% 5:4
TR (H w) 18% 57
TgEF (UH 1) 21% 3:4
Ieare ¥R ufeEe (d #) 19% 5:3
a7 (= &) 6% 3:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

uft &= =i e Ty e i sftag dea g 27 (Smed o2 o 9)

(1) 6.39 =@ (2) 4.69 =g

(3) 5.96 =g 4y 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
4 [Option ID = 8028]

A wWN =

2) (Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution (M: F)
Service (SE) 15% )
Sales (SA) 12% Sl
Construction and Maintenance (M) 9% 5:4




Profezsional (PR) 18% 5h:17
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fra
Others (OT) 6% 3:5

FefetEd aifers W fa=m fifae 558 o 57 50 99 3 T = 5 & § 9na 5 e 1 e
(%) Taemor Qo geg-ufeen wEEe wquE g9 T 2| '@l & % Per weed H Ged 80 @
ATt T T2 U S77RS] % YW T YTT 397 a0

ufdeE (%) o | -t s (g o9 )
Fa1 (uF g) 15% 3:2
e (TE ) 12% 5:3
famtor afft sz (i uw) 9% 5:4
mHTEe (i ) 18% 5:7
Te9F (UH 1) 21% 3:4
?.?qm:[ﬂir{ﬁﬁ'ﬁ:r{tﬁ?&) 19% 5:3
3= (311 ) 6% 8:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

sector?
(1) 330% (2) 318%
(3) 320% (4) 80%

g ¢ it s g d wriw afgen wEEe i Fa e d e e § weg W weiee B e w5
":fai; .:I\'(;-!%?

(1)  330% (2) 318%
(3)  320% (4)  80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1 [Option ID = 8029]
2 [Option ID = 8030]
3 [Option ID = 8031]
4 [Option ID = 8032]

A wpN =

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fra
Others (OT) 6% 3:5

FefetE aifer W fa=m fifse e o 57 50 99 3 7w = f5fm & § 9ne F e 5 i
(%) faemor @ gea-ufeen wEee wquE g9 T 2| '@l & % Per Heed H GEd 80 @
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A % FEE H1 SFan G

wfderd (%) T | gee-wiwen ogeE (39 )
T (vF 2) 15% 3:2
ey (ug ) 12% 5:3
fomtor i smee (< o) 9% 5:4
THeFe (i W) 18% 5:7
TaYT (T T) 21% 3:4
Jearea A ufEe (4 19% 5:3
a1 (= &) 6% 3:6

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH T 3R UH T & § FEd T59 wEew f HE S W 2 &9 7 e FEee H Bl Je w e
"3;E:| ;IEv"i%?

(1) 832% (2) 87%
(3) 89% (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% X2
Sales (SA) 12% g
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% g
Others (OT) 6% 2:h

ffafed aifers @ faam fifse f5om o 57 5o ad 4 om = fafim &t © e % s =1 afeem
(%) Taemor Qo geu-ufEel e S SEE T 2| 'l &6 % Fel wEwd H ged 80w
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Ta g \ pie b - b —_e=

famtor afft sz (i uw) 9% 5:4
mHTEe (i ) 18% 5:7
Te9F (UH 1) 21% 3:4
FearEA AR i () 19% 558
a1 (=1 #) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

UH U HN UH U aE § Heitd afeen wreee i $e s AR 0 f e o swekg aften sEee S aen w6
A e 27

(1) 5.1 <@ (2y 7T.5<m@

(3) 5.7 @G (4) 13.2 9@

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1 [Option ID = 8037]
2 [Option ID = 8038]
3 [Option ID = 8039]
4 [Option ID = 8040]

A W N -

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India 1n different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% X2
Sales (S8A) 12% Bz 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F=3
Others (OT) 6% 3:5

Fefertaa arfers o it 5w v 53 50 ad 9 79 % fafes e | una % weEee w5 aieea
(%) oo qon gr-afeen wdee ou g@iE @ 2wt &9 % B wEee § e 80 g
AT | T30 70 ARSI % 90 T U9 F 39 20

WAE & FEEA F AT e

wfeors (%) feren | ger-ufeen @y (g9 )
Tar (um ) 15% 3: 32
ey (TH U) 12% 5:3
frmfor 3w srEam (o) 9% 5:4
TETEE (i ) 18% 57
TEYF (T T) 21% 5:4
JearEA @ it (fF #) 19% 518
3= (a1 ) 6% 8:5




What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 : 39 (2)16: 37

(3)16 : 35 (4) 16 : 39

of uq & o S AfEen wEwe S g @ d 9w g o F st 4 el gey wEee $ Fe g &6

ST TR T
(1) 17:39 @) 16:37
(3) 16: 35 4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

e % T T o g S frew el ge oo e o gue ity e WA 27
(1)  =id &= (2) ey T
(3) wHER (4) wEET fTFm =

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1. 1
[Option ID = 8045]
2. 2
[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafes Fa atmfs s arae §1 gt 2 5 arsae madt fafim ovat & aean @ f=Ee

T 2| 3% G T SEEn ST F SHAT 2| 39 d FiA 6l FHA SIEER ST F e o6l & v

(A)  aTeH-aEa (T



CARTEE RS B TERTA TREOTROAE R AT TR TR TR, .

(1) (&) =R (B)
2 (B) 3R (©C)
3 (D) R (E)
(4)  (B) = D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List | Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (l) Using Swayam and Moocs

(B) Open and distance learning method (ll) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(D, (B)-(I1), (C)-(IN), (D)-(IV)

(2) (A)-(1n), (B)-(IV), (C)-(1), (D)-(1)

(3) (A)-(V), (B)-(li), (C)-(I1), (D)-(1)

(4) (A)-(In), (B)-(), (C)-(1V), (D)-(1lN)

-1 % Ty G-I 1 faem i) g1 8 3=3 wifomm g | foam i ffam & 02 2, 5=t g5
11 & srfermm fafaat it wumEsfic sg@ i a1 41 78 21

-1 FA-1I

Toregor it Tatersn THTESieE SeH H G
(A) - i SAdizeaTeRs oty (I) =599 3 g3 F1 7=
(B) T AR gt st fafg (II) s Ao e
(C) fareqor it Fafee fafa (II) ATsge Ao At
(D) oz =it iy fafa (IV) af== = any-any e 7o

= fou o fameul § W wE 3T w1 = A

1) (A)-D. (B)-II), (C)-(III), (D)-(IV)
@) (A)-IID, B)-AV). (C)-1). D)-1I)
@) (A)-AV). B)-(IID). (C)-AD. D)-D)
4)  (A)-ID, (B)-0). (C)-(IV), (D)-(I1I)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements
Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.



Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (l) and Statement (Il) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (Il) is correct

Fo7 (D) : IEAfeY A FATHEET THE R SHESET o W AR IR @Ear R SO w

ATF FH T e oA FE e 2

F97 (I1) : T =afhed TAT @R wadE Sthacs Wi wieTtdE & e seen a3 g

A FH % TEEA O 490 R A B
IWE FYA T A |, 4 50 e § 6 weE 39w I R =5 S

(1) =99 (D) =% JI) 31 =8 2
(2) = (D) 311 (1) 241 e 2
(8)  wuA () Wet 2, s %o (1) T 21

(4)  FYF (D) T 2, SfET w9 (1) TR 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

H= 21 FuH o e # :ouE wiEeE (Assertion A) % ®9 ¥ fafga ® @1 g1 35S F0 (Reason R)

AT (A) e & smgfe o o2 @ & e gEEa Tl =1 FfEa wErEe sfirm afommr
#F1 TEAH 9H &

F0 (R) ToRelt et forerr wEmrET oonel w0 st aRiEdteAt § gun % 'y w6 e A
S

ER e n e e R e ot ot B o G e i i | = e o et e o o e A L

(1) (A) 3 (R) =F &9 & =1 (R). (A) Ft =&t == 2

(2)  (A) 3 (R) 3 79 &, 9 (R), (A) #it T8 == 76 2

(3 (A== 7, wiET (R) #5807 2

(4) (A) 316 2, wifFT (R) Ted 2|
[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]

3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]



6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

TF| TT % TIE | UiEEri-uies = aeEtEd e T a v

(1)  F=mdrg =g (2) ufeas wa
(3)  =AHATTE WY (4) TETEEE Y

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

Tt after fmeft aforfa A at sfagfe @ omfe % w9 A B R, e # fefatee J 5 G e
=1 T T 27
(4) oo @t

(B) =R i

(C)  =mre &y
(D)  ulaeis =l

(E) =g fara

Fr= fou o faset @ © wEt 3T 0 =EA i

(1)  (A) 271 (B)
(2)  (B) @R (C)
(3)  (C) ¥ (D)
(4) (D) 3 (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (Il) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(ln), (B)-(1V), (C)-(lN), (D)-(I)

(2) (A)-(D, (B)-(I1), (C)-(In), (D)-(IV)

(3) (A)-(In), (B)-(lI), (C)-(1), (D)-(IV)

(4) (A)-(1n), (B)-(h), (C)-(1), (D)-(IV)



Tt-1 % =19 gei-1I1 1 el =il | g=i-1 7 w9 & =99 959 2, F906 gd-11H 3795 g 99 aF416

EEIB! T 1T

Y = = T H 1S ST T
(&) T g (I) T3] =1 TR 31T T TR
(B) ftea fmio (IT) U FevR U2 H FHEA B o1
(C) wiee==a uie =1 =91 (IIT) == = & § 5 9y 33
(D) @TeT fagem (IV) =08 = = = o= gey T w0

= fou v faweul # o wE 3T %1 999 it

(1) (A, B)-IV). (C)-(D). (D)-(D)
@ (A)-D. (B)-AD. (C)-ID. (D)-AV)
(3)  (A)-D, B)-ID. (C)-@). (D)-AV)
@) (A)-ID. B)-D. (C)-(ID). (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (ll) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

e 31 e fow e #

Fo7 (D) : UF WY-TEY A We-T3 § SE o1 HeA % wEEy ofR 9l % e wmE war 98
e 2|
o (1) o1y weHt Afahar # TE FaeE adt Al & fore sfEd 2

ITTRE Y F AT °, A9 5T T el § | e 39 B =99 i

(1) =99 (1) 30 (1) 2F =ed 2]
(2) = () 37t (1) 3T 37T 3
(3) = (I) we =, =it = (1) 3180 2

(4) =% (I) 99 7, witha waA (1D 77 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).



Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

I 21 F99 fav 0 £ ;. v% YA (Assertion A) F ®9 | fafigd & @ T IHF FAU (Reason R)
FETH

HATHFI (A) fepelt =i gfrewr (Ha) =1 Feeseofie afimwesn (Ho) =t gemEar o giiam fan s
ai 'T_'[-1|
F (R) : sty afekew (Hy) =1 ahamfa i sfagfe @ig =9 & 78 1 5 g 2

IULRE YA & AT °, = 2 e fament 9 @ wew 30T I R 99 i

(1) (A) 3% (R) ZF1 W8 & 270 (R). (A) #1781 =737 2

(2) (A @R (R) FF TE E, T (R), (A) F7 WE =men T 2
(3)  (A) W 2, Wi (R) 7R AR 2

4) (A T TE 2, S (R) TR R

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

g T oie e e ug e Featatae 1 1 e e w me E e
(1) 30 sFait (2) 30 W8
(3) 15 Fge (4) 15T

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

o TmmmT =1 adtE-fa () "Let truth prevail” 27

(1) 2 =emsm (2) TEE ATE T
(3) fgfeg=m (4 zfeg

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is

decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= o g BT TT R - U5 TS (Acceriiamn AV o BT W BUEE R o o oo 50T (Peacan B



B S| s = A R b B gl el R I ey e e o L L T A e Tl e IR S R L 8T A i

FETH

AR (A) AT TRY (FToFRe) SUETHT AfaF TR 37 SAR0E 7 &, T A% s
1 T W TEE THE °2 T 2

#10 (R) : SeiE JET (FisHne) Hifsa W dsmi 5 F SR w= 2
T HYUF | A °, = 20 T famen § 8 w6y 3ug I 6 99 i

(1) (A) 3% R) IF HET 7 A0 (R). (A) F 761 =707 7|

(2) (A R (R) IF1 T &, @A (R), (A) F1 TEl =wen T4 2
(3) (A ?, A (R) T8 T4 2

4) (A = E 2, = (R) WE 2

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

SHEER % 3N AT B IAFT W AAIIies [ TR § UH TRE Has a gt aned 5u?

(A)  wEE Tamm At i ama e e F e

(B) == walm FoiHal S # |19 9E 44 o)
(C)  arEfrER 1 foen gonel = = waE & fen)

(D) == RN 7 F o FF Hifem w wema v i wm o)

e 2w o fasedt @ | TEE UG IO H WA AL
(1)  =ad (A) 271 (B)
(2)  Fa= (B) #1(C)
(3) =& (C) ¥t (D)
(4) === (A) FH (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice



(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

Hr= &t 2 gt F O mmw i aEmeE st = e fifm

(&) TR
(B)  oFgzEal
(©) EmE
(D) @&

(E) = =14 541

Hr f3u u faseal © 9 wE I W =Ea HiA

(1) &a= (A), (B) #117 (C)
(2) @ (B), (C) 31 (D)
(3) == (C), (D) 3 (E)
(4) T4 (A), (C) R (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family
(1) Rs. 3,000/- (2) Rs. 4,000/-
(3) Rs. 5,000/- (4) Rs. 6,000/-

TF 99 F S UF URER W ATES 910E = U993 TEAT § 4000 F0F, IHF A0 4 TEAT B 4500 T

3w #Afom s wEA #5000 T @) A2 W AY % A FA w=4d 5000 ¥ ot @1 3@ ufEw A ositea

TTEF ST TR o ?
(1) 3000/~ = (2) 4000/- T

(3)  5000/- =5 (4) 6000/- =

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 © 90 = =g F W WuT "Eme = o Ed 9a -

(1) 765 (2) 98.25
(3) 55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]



2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% =R 33 S 39 g9 W 11 e g9 W fawa gem % v @ Afdq Far 8| Gfowa J§ @
QQ

1) 25% (2)  50%
(3)  70% 4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

72 foreft a2g 1 =va gem =E fawa gem = 95% 2 °t =y i afdwEar 7= et

(1) 4.26% (2) 5.26%
(3) 2% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

Iz =iz =3t Tt =eg *1 25% ufawd i =1 @ 38 1200/ - %9% & s=a1 2 & 30% =0 =" F9H *

feru 30 3w =g =i e SHima W sS=AT =fE e

(1) 1600/~ ¥ (2)  2000/- &
(3)  2080/- =w (4) 1560/- =%

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

T WA SAAE B WA FEtarad § § wE-9 96 3w 95 G A 96 % 9 HEa W
AT 37

(1)  wamE (2) #AFAE
(3)  3uHH (4) Tl

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]



22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

I FREIE % HFTEN AN ® WHe H ST 1 HEl %E o R

(&) ToEmd v = seE it wEEar /A w1 e (30
(B) =R = w9 (27)

(C)  sAfwamon =i fagdh = =v 9 gfe (Frmm)

(Dy  Ifyamon #1 F9= (Jiow)

(E) Tifza fam =1 22 2 (Z=mm)

Hr= fau o et @ | ®El 39 o =9 FIAU

(L) (D), (E). (A). (C). (B)

(2) (D), (C). (B). (A). (E)

(3) (D), (B), (E). (A), (C)

(4) (D), (E). (A). (B), (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) YWhich of the following schools of Classical Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?
(A) Nayava
(B) Vaiéesikas
() Buddhists
(D) Mimams®

(E) Carvaka/Lokavata

Choose the correct answer from the options given below :
(1) (B) and (C) only

(2) (B). (C) and (E) only

(3) (B) and (E) only

(4) (A), (D) and (E) only

T GRAH 99 F FA-H GEEE W52 T F SGEE AT g 2 7



By =i
(C) dig
(D)  HmE

(E) EIEIED Jxmq—,[‘,. T

Hr fou e fasedi # @ W 3T 1 wET HiAC

(1)  Fa= (B) ¥R (C)
(2)  =aw (B). (C) #R (E)
(3) e (B) 31 (E)

(4)  FF4 (A). (D) 1 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (1) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

et =1 o fow T #
w97 (1) : T RATE THATE % AR T Y Al %Y % =59 ot 2 2
Fea (1) : TR HT=AT TR TRl wat & 7 56 R Uwn ® oA S 9 9w 9w T8

waTdl & 6 59 8 wgEE = B

YT U o AT |, dre 2 fomedl § © HEl 39 @ =9he it

(1) == (I) =i (I0) 21 = 2
(2)  =E () 3 1D) 3 srme F|
(3)  ww (1) &3 2, A e (1) 57T 2|

(4)  F () w8 &, AT F9E (1) T 2
[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List I
List | List Il
Steps of Argument Propositions



(A) Affirmation of the thesis as proven (1) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

Tt-1 & =g g=-11 % fiem Fifm)
g=fi-1 g=f-11
(A)  Afiarom i i % =9 F 9 () == 9= 2 & a8 A At 2 oHm e
|
(B) =mW = H4H (Il) "=l o8 &1 2
(C) fafea Fam = sgmaw & (TIIT) SHfAT 9BTE] o 3 2|
(D) TurTa =1 FEETe sfaamen 1 Fe (IV) =i F] gaf 2|

= feu Tu faskedi ® @ wE 3w = =EA Hifo

(1) (A)-D). (B)-(III). (C)-(IV). (D)-(II)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(IID), (B)-(IV), (C)-(I). (D)-(IT)
(4) (A)-(IT), (B)-(I). (C)-(I1I). (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF W75 & HOET 3 B B ¥ U A9 Hise @ o9 w1 i R 2 e e fage o gua w2 aw
1 o=l T2 Aigel H1 30T SFEE B B SR 999 § F9 2

(1) o= (d=3) | (2) w1 3Ed
(3)  difers &2 =18 TEA (4) u= =i S e

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2 Fea T2y 70 # ;. w wiimed (Assertion A) % &0 H fafigd ' Al TH 5% #00 (Reason R)
®EIH

AIFH (A) i i Nt Lo B e B e T e A o 2 et e o M e e e o0t e | e ey

F (R) : T A FwEE 'Y dN W S | HaE 6w @ |



IYTH YA = AT |, A9 30 T fawmeri 8 ® AEt 3 w1 =Ee iAo

(1)  (A) 37 (R) 3F1 @9 & &1 (R). (A) 1 =& = 2

(2)  (A) 37 (R) 31 &7 7, 9 (R). (A) i 981 =z 765 2
(3)  (A)=ed 2w (R) 3790 2

(4)  (A) 37 B, WhF (R) 09 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

T 92 W TEH D] AEAT % 4 HEIEd ERA R % Hal F6 h gEe i)

(A) 1500 M Bytes
(B) 5 K Bytes
(C) 1 G Bytes

(I T Bytes

Hr fou 7w fashedi @ § @E 3T R =99 SHifAC

(1) (D). (A), (©). (B)
(2) (A), (D). (C). (B)
(3) (A). (B). (C). (D)
4) (D). (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (ll) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

TR T o e s w2 E, 9 A e R E

w7 () : TE-FT Fl I 529 H F9 w2

—orT (TTY - e T tr OV T EOT o ATeTT o T R T o R 9T T ST 2



il SR, by et [ N R e R R e B I N e o S MR, A F N o B AT Comr SN, T mD T o o, Mool DO LR ek

IV FUA F AT °, A 20 T FEeT § ® wE) 39 @ =95 i

(1) = (@) = 1) 341 o=3 3
(2) =R () i (I1) =4 =5 )
(3) = (1) = 2, @i woF (1) A9 2|

(4) =3 (I) 8F &, wifba #9A (1D 97 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

T1-1 % =y g=-11 %1 faee i)
-1 11
( = e Tu 1:.\ m) { =, }
(A) OCR (I) ZfFa =1 geataiaa ZeaEa] &1 63 4 F
fom v = 2

(B) OMR (I) =-Tomerdia whaman # o 729 F+ & foo

(C) Email (ITT) THT=HTIA FrgHeRT

(D) Instant Messaging (IV) #HFric® mujH:'-h«H
Fr= fou o faseat @ © wE 3w = ==A it
(1) (A)-(ID). (B)-(I). (C)-(IV). (D)-(I1I)
(2)  (A)-(D), (B)-(D), (C)-(IID), (D)-(IV)
(3) (A, (B)-(IL), (C)-(IID), (D)-(IV)
@) (A)-I), (B)-(IL), (C)-(IV), (D)-(III)

Match List T with List IT ;
List I List IT
(Computer Terms) (Purpose)
(A) OCR (! Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinations

(C) Email (IIT) Asvnchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
(1) (A)-(IT), (B)-(T). (C)-(IV). (D)-(I1T)
(2) (A)-(IT), (B)-(I), (C)-(III). (D)-(IV)
(3) (A)-(D). (B)-(ID). (C)-(III). (D)-(IV)
(4) (A)-(D). (B)-(IL). (C)y-(IV). (D)-(I11I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2.2



[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Frefefigs § ° i9-01 TF AEH R @0 A e 9wy 2 7
(1)  How SEATEES (2) fruTEE FEmES
(3) A SEATAES (4) e

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

Frferfiga & & F-m =91 | g 91 w5 =9 A6 27
(1) i st (2) =
(3) e (4) efEE

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

frafafas § & FF-5ft orHfa ey ST wedt 2 o 3EE sTfeTTaE S S a2 7
(1) 5= (2) “IeEE R
(3)  =EmH (4) TEE

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

qPA TR I wEEE w5 9 % #5839 § NMSHE Fefatad § 8 e aamem 27

(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayvan Ecosystem

(3 National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem
[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]

2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]



4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

Treteted & | 7 Tl 1 Taghs T9E 5T & ST H1T qeiarg Tiadd T asd # 7

(A) T SRATFEES
(B)  =or#E 921 (PMas)
(C) A=A

(D) =9

(E)  ATsgE SeEEs

dr f2u o ol © 9 wE 3 W = Fif

(1) === (B), (C) (D)
(2) =S (A). (B) 2 (C)
(3)  a= (B) # (D)
(4) = (B) 3 (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
I foren =% Wed o, wHHE F=A9 FEeE § e e § us uggw dan g fuife e % fo
fefetad #@ & e adE s ares =i e fn ar?

(1) g (2) e
(3) TAHE S (4) uaEH 3

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
Listl ; ; ; ; Listll

(A) NAAC ; ; (I) Delhi

(B) NIEDA ; ; (ll) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

g1 % =y g1 faes Fifsw)
T 1 1T
(A) wATTE D T

(B) THHEEIET (II) #Ta=



(C) UA = AR aE (IIl) ===

(D) Hf 2t 3w 3 (IV) =5

= fau o frwedi 4 @ @ 39 1 = Hifw

(1) (A)-AD, (B)-ID. (C)-(I). (D)-(IV)
2 (A)-AD. B)-A). (C)-AV). (D)-(I1I)
3) (A, (B)-AD. (C)-). (D)-AV)
4)  (A)IV), (B)-(IID. (C)-(II), (D)-(T)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

T¢ fem Hifa (w3 £ 1)-2020 4 w3 £ # s i TorE == = A 2| o9 e e e e E2

(A) iR § s R FamEn wg AU R dEn )

(B) e =i HOFH &g WEiRTR % TEF % 5E9 § HEE % 5E SEE-TEE 59 OF 59 9eA1 A1

(C) =i g T w1 seE 35 °§ gEea wg ssardt et = ot )
(D) T ditaEl, FM SR FoEE TEdT F &7 ¥ ATaw gHie B A w Bg S s
SEfeTs =1 TR W 5T S ATEH T4 wA

(E)  forem aienfiefi # siif.g® o7 SEAmTd amarsti =0 (Hamr =

= fou o faseul § O wE 3w %1 9Ee FiAu

(1) === (A), (D). (E)
(2) === (A). (B). (E)
(3) == (B). (D). (E)

(4)  FFE (A). (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC



Choose the correct answer from the options given below :
(1) (A), (B), (E) only
(2) (A), (C), (D) only
(3) (B), (C), (D) only
(4) (©), (D), (E) only

ftatEs & 3 -3 323798 99 2 7
(4) =@

(B) W=

(C)  F=Ew
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(1) %@ (A). (B), (E)
(2) = (A). (C). (D)
(3) % (B), (C). (D)
(4) === (C). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure
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[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented socio economi crisis. Stressing every one of the country it touches, 1t has the

potential to create devastating social. economic and political effects that will leave deep and



The

longstanding scars. UNDP 1z the technical lead in the UN's socio economic Tecovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.
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major crisis faced by the world since World War Il is in which area?

(1) Industrial (2) Technological
(3) Communication (4) Health
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[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
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1 [Option ID = 8205]
2 [Option ID = 8206]
. 3 [Option ID = 8207]
4 [Option ID = 8208]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHOQO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income. with no way of knowing when normality will return. Small
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International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.
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The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication
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[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
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1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.
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Which continent is least affected by COVID-19?
(1) Asia  (2) North America
(3) Australia (4) Antarctica
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[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
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1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
yvear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. 1t has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socic economic Trecavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 300

million people will not be able to meet their basic needs.
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC
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[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]

A w N -

1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family 1= suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 300

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry  (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]






